FAN: HEIsS
Ha: MYNSAVAND(SYHL2M/5Y - 52)
Sel: HBPSY S4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
3= 103,064,784 106,085,981 A 3,021,197
= 72,854,493
& 15,339,000
J| 395,776
< 14,475,515
AdngdMEA I (slLsd/sg - &) 78,268,608 76,907,490 1,361,118
= 67,766,518
& 460,000
J| 395,776
< 9,646,314
dd=sgy =4 23,925,533 25,341,181 A 1,415,648
= 19,743,954
& 460,000
J| 120,000
< 3,601,579
SIEHE XNE(22) 15,344,000 15,680,000 A 336,000
= 13,700,000
< 1,644,000
308 AHAIEHHSOIA 15,344,000 15,680,000 336,000
= 13,700,000
< 1,644,000
01 HXNHHNBHEELES 15,344,000 15,680,000 A 336,000
OwRJIZblz3=2 15,344,000
= 13,700,000
< 1,644,000
ELMSH XA (=) 4,161,576 4,682,872 A 521,296
= 3,687,473
< 474,103
308 XXM SOl A 4,161,576 4,682,872 A 521,296
= 3,687,473
< 474,103
01 IXNHHBNEES 4,161,576 4,682,872 A 521,296
OE2LIHE M 4,161,576
= 3,687,473
< 474,103
HESBd=sHdN AT LA (=) 690,100 630,000 60, 100
= 460,000
< 230,100
403 MHXISHHE X201 E 690,100 630,000 60, 100
= 460,000
< 230,100
01 X SHHX2E= 690,100 630,000 60, 100
oz eEdsgiN=x=H 690,100
& 460,000
< 230,100
A= NFEXNEM(Z2) 1,613,000 1,882,351 A 269,351




FAN: HEIsS
Ha: MYNSAVAND(SYHL2M/5Y - 52)
ool HEASY 54 (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,613,000
308 XXM SO A 1,613,000 1,882,351 A 269,351
= 1,613,000
01 AXHHBILEES 1,613,000 1,882,351 A 269,351
ozadsgy AEX=M 1,613,000
= 1,613,000
JEE sitE RSE45 418,300 395,500 22,800
202 044l 10,000 10,000 0
01 SLHOYI 10,000 10,000 0
oz eEdsgy sS4 =4 10,000
308 XX EHSOIA 64,800 270,000 A 205,200
01 HIXNHHBMNELS 64,800 270,000 A 205,200
OEY ASEMNS T K& 64,800
403 MtXISHE X201 E 343,500 115,500 228,000
01 X SHHAN2E= 343,500 115,500 228,000
Ozt =E SS=FANE - ZHIXE 81,000
OzgIsd=E RSEHIXH 22,500
Oz sdE SsdH £XXNE 240,000
detZdsgy AAI|E &5 193,800 196,500 A2,700
403 XIS S A=01 & 193,800 196,500 A2,700
01 XM 2= 193,800 196,500 22,700
oz eEd=sgy s =4 97,200
OZEIsHE HTYULMANE X 21,600
ORII=sbE8 H=E - IHBAME X 75,000
detd sIAM = 224,550 120,000 104,550
308 MtXIEHMSOIH 224,550 120,000 104,550
01 HXNHHBHELS 224,550 120,000 104,550
oz Ed sk 22 224,550
dtdsgy = 197,280 123,550 73,730
307 glz2tol & 25,000 20,000 5,000
04 QIZtHAIE X = 25,000 20,000 5,000
OzgIsLs A3 25,000
308 XXM SOIA 172,280 103,550 68,730
01 XML EES 172,280 103,550 68,730
OBAYSMNE ASZAY| 108,000
OzEZMd=ZR M2z HENS 5,280
Ogl2oIs)| 2 ad st 50,000
OzZI=Y F ALEXA 9,000
=Hl &2 SNHUXA(=Z1) 725,377 1,630,408 A 905,031




FAN: HEIsS
Ha: MYNSAVAND(SYHL2M/5Y - 52)
Sel: HBPSY S4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 604,481
< 120,896
308 XXM SO A 725,377 1,630,408 A 905,031
= 604,481
< 120,896
01 IXNSHHBANEES 725,377 1,630,408 A 905,031
O=HIZ=S XA 725,377
= 604,481
< 120,896
e s XNJAAMGE(21) 201,550 0 201,550
= 139,000
= 62,550
308 MtXIEHSOIH 201,550 0 201,550
= 139,000
< 62,550
01 HXNHHNBHEELS 201,550 0 201,550
oz&d s XA 201,550
= 139,000
< 62,550
ZSHEHIMAAL S ASE(Z2) 156,000 0 156,000
J| 120,000
< 36,000
403 MtXSHHSA=0l& 156,000 0 156,000
Jl 120,000
< 36,000
01 X SHMA=2E X 156,000 0 156,000
OIS ZEHIMAANLE SUHE A 156,000
J| 120,000
< 36,000
wAY FHH 25t 30,866,776 27,785,722 3,081,054
= 29,795,000
J| 275,776
< 796,000
DEEH Mt 773,000 190,500 582,500
202 oddl 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
oA =X 7,000
308 XX EHH SOl A 575,000 75,000 500,000
01 HXNHHNBHEELS 575,000 75,000 500,000
ONSEH MACK =4 75,000
OH MHE 45 S s XA 500,000
403 XIS E X201 & 191,000 108,500 82,500
01 X SHHXN2E= 191,000 108,500 82,500
oH sIAHE XA 96,000




SN BEASYD
HH: ABNSAVAR D (sYHL4M/52 - 55)
CHel: MY AW 25 (el &)
SH - o(3H) - NEAMY - BES O &k o il Hms2
SEIEFEE 18,000
OH RX2IE 522 78,000
oAFYM REAXI| 23 45,000
O EREBALXE 50,000
yeozpe 29(31) 75,000 75.000 0
= 75,000
201 LEr2 | 13,400 13,400 0
= 13,400
01 AL 22| 13,400 13,400 0
ogEYL & 13,400
= 13,400
202 04 H 14,000 14,000 0
= 14,000
01 201 bl 14,000 14,000 0
ogzme =1 14,000
= 14,000
308 XXl EHAI SOl & 47,600 47,600 0
= 47,600
01 IXISHALEES 47,600 47,600 0
OANZ gFB2YR =X 47,600
= 47,600
HASSHMSH (AL BIH)(22) 275,776 261,902 13,874
pJ 275,776
308 XXl EHAI S Ol & 275,776 261,902 13,874
pJ 275,776
01 HXIESHAANEES 275,776 261,902 13,874
OMASHAMASH (A 22ld) 275,776
J| 275,776
HAS SHAFYNEH(ZD) 29,720,000 26,453,234 3,266,766
= 29,720,000
308 X ASOIA 29,720,000 26,453,234 3,266,766
= 29,720,000
01 IXISHALNEES 29,720,000 26,453,234 3,266,766
OBASEMNZNEH 29,720,000
= 29,720,000
A7 SEHZE AL FH NAY 15,000 0 15,000
403 XHXI EHHI S X201 & 15,000 0 15,000
01 HXISH L= 15,000 0 15,000
OEHTH ASBH X 15,000
HHYs M2 slAls X 8,000 0 8.000
307 @I2t0| & 8,000 0 8.000




SN WBFsAD
Ha: MYNSAVAND(SYHL2M/5Y - 52)
el mAe AW s (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 BIZHHAIE RS 8,000 0 8,000
OxNdA=s 233U XA 8,000
2R MADIg XM 9,175,939 9,704,044 A 528,105
= 8,024,364
< 1,151,575
FTAS &2 3d84 M 880,075 1,421,680 A 541,605
202 4l 4,000 4,000 0
01 S LHOYI 4,000 4,000 0
OFTALi S &&= ZdE =& 4,000
308 AHAIEHHSOIA 446,400 469,680 A 23,280
01 HIXNHHNBMNEES 446,400 469,680 A 23,280
ONZSEZ A HATHEH XI& 86,400
oS+ B33 75,000
oOZAZEASHE AHEs XA 285,000
403 UtXISHH S =0l & 429,675 948,000 A 518,325
01 XM A2E X 429,675 948,000 A 518,325
OLAZX ARx3 =8 105,000
OrEd SR =4 72,675
(OFS e RN Se W Rl e 42,000
OEAE LIRS HMeldEt 210,000
FRE= JIBEEAE 450,000 450,000 0
2 300,000
< 150,000
403 MHXSHHSA=0l& 450,000 450,000 0
= 300,000
< 150,000
01 X ESHHMA=E L 450,000 450,000 0
FRIRZ Itz 4(RLASEHE §H) 450,000
= 300,000
< 150,000
gsHAEN (=) 7,724,364 7,724,364 0
= 7,724,364
308 XXM SO0 A 7,724,364 7,724,364 0
= 7,724,364
01 IXNHHBNEES 7,724,364 7,724,364 0
Og=g A2 7,724,364
= 7,724,364
s M=+ 121,500 108,000 13,500
308 XtXIEHH SO0l A 121,500 108,000 13,500
01 AXHHBIYEES 121,500 108,000 13,500
O=sX=MlE2d K& 121,500




FAN: HEIsS
Ha: MYNSAVAND(SYHL2M/5Y - 52)
Sl SN U ASOHE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sZIIHE & AS0HE 14,300,360 14,076,543 223,817
= 10,203,200
< 4,097,160
SIH LA (=22) 3,000,000 2,400,000 600,000
= 2,500,000
< 500,000
403 UHXSHHSA=0l& 3,000,000 2,400,000 600,000
= 2,500,000
S 500,000
01 X SHMA=2E X 3,000,000 2,400,000 600,000
OsIIHL AL 3,000,000
= 2,500,000
= 500,000
TASANANEMAIGE (2 1) 8,088,360 8,060,543 27,817
= 7,703,200
< 385,160
308 XXIEHH SO0l A 8,088,360 8,055,043 33,317
= 7,703,200
< 385,160
01 AXHHBIYEES 8,088,360 8,055,043 33,317
OXHECNIHENEELS 8,088,360
= 7,703,200
< 385,160
sIHS= 3,212,000 2,416,000 796,000
202 04l 7,000 7,000 0
01 = LH 4 Hi 7,000 7,000 0
SsIAHE 2 ASHFEFA 7,000
308 XAtXIEHH SOl 1,957,000 2,409,000 A 452,000
01 HIXNHHBNEES 1,957,000 2,409,000 A 452,000
O=g8 BAHMs 2Hl K& 1,813,000
OLU=sINIH =cl2gd X& 144,000
403 MHXSHHSA=0l& 1,248,000 0 1,248,000
01 X SHHMA=E X 1,248,000 0 1,248,000
OUEsIIAH SUHAA 960,000
OAESIIAH LA 144,000
OsJIA HEsxeE X 144,000
SYMADIBE Y (sEMLSM /58 - &) 22,364,895 26,580,816 AN4,215,921
= 5,087,975
& 14,879,000
< 2,397,920
OHEA E=ZSHMA =E 9,470,000 11,332,000 A 1,862,000
= 5,056,000
& 2,726,000




SN eSS
A SAMMIIE M (SHHSLM/5Y - 58)
Sl NN SATIHN HY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 1,688,000
Bi=OHE AL (= 22) 4,756,000 5,226,000 A 470,000
= 4,756,000
402 RIZEX20l A 4,756,000 5,226,000 A 470,000
= 4,756,000
01 QIZEAt2E X 4,756,000 5,226,000 A 470,000
Obi==IHH 4,756,000
= 4,756,000
SHUTHEl 1A (=22) 300,000 300,000 0
= 300,000
403 XIS E X201 & 300,000 300,000 0
= 300,000
01 XXM A2E = 300,000 300,000 0
ostgitlssoe 300,000
= 300,000
AR SESS HEAMY (S -} 834,000 834,000 0
& 834,000
403 UHXSHHSA=0l& 834,000 834,000 0
= 834,000
01 HXHHMA=LE X 834,000 834,000 0
OxARsEESNYE 834,000
= 834,000
NES22 HLAL(2D-s4E2) 87,000 569,000 A 482,000
& 87,000
403 XS E A0l & 87,000 569,000 A 482,000
& 87,000
01 HIXSHMA=2E X 87,000 569,000 A 482,000
OXNE=s 22 N 87,000
= 87,000
NES2Z LAY (ZD-2tHL) 440,000 1,400,000 A960,000
= 440,000
403 MHXISH S X201 & 440,000 1,400,000 A960,000
= 440,000
01 X SHHA2E = 440,000 1,400,000 A960,000
OXEZE= 2 e 440,000
& 440,000
SEME E2MLZAL(ZR-54ER) 976,000 953,000 23,000
& 976,000
403 A X EHHSH20IA 976,000 953,000 23,000
& 976,000
01 XM A=E L 976,000 953,000 23,000
SESZUEES HE 976,000
& 976,000




2A: AEH=sH
A SAMMIIE M (SHHSLM/5Y - 58)
Sl SN BADIMA =Y (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SEME SHIHLAS (2 D-0LEH L) 389,000 1,200,000 A 811,000
2 389,000
403 XX SHHS K20 & 389,000 1,200,000 A 811,000
2 389,000
01 XIS AZ2E X 389,000 1,200,000 A 811,000
OsEsgMEE4 Y 389,000
2 389,000
A2 F=elAlE WE S 448,000 500,000 A52,000
403 XX SRS K20| & 448,000 500,000 A 52,000
01 XIS A=2E X 448,000 500,000 A 52,000
O=xclAld MHE= 448,000
g2 JISUHMAY 100,000 100,000 0
403 XX S M S K201 A 100,000 100,000 0
1 AXSHHAA2ER 100,000 100,000 0
OYXZ JISUHHAMY 100,000
CENEX S B BELAY 440,000 0 440,000
403 XX SHS K20 & 440,000 0 440,000
01 XIS A2E X 440,000 0 440,000
OB S 24 2Y 440,000
SHMAD|BFAE Y ALY 700,000 0 700,000
403 XX SHHS K20 & 700,000 0 700,000
01 XIS A=Z2E X 700,000 0 700,000
O=sgMAD|IBHA Y| 700,000
S HMAD|BE A H| 12,894,895 15,248,816 A 2,353,921
= 31,975
2 12,153,000
= 709,920
SHMA J|BFE YA (P& - 2|8 (=21) 9,909,920 10,562,920 A 653,000
2 9,200,000
= 709,920
202 044 18,920 18,920 0
01 2L Hl 18,920 18,920 0
SHAMAD|IBIEHIAIY SRF=A 18,920
403 XX SHHS K20 & 9,891,000 10,544,000 A 653,000
2 9,200,000
= 691,000
01 XIS A2E X 9,891,000 10,544,000 A 653,000
o= 3XNHel 3,723,000
2 3,463,000
= 260,000
ogo|et Ad| 6,168,000




2AN: s
M sHMADIE I (sElYSN /s - &)
S sgMAD|IB HH| (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
2 5,737,000
& 431,000
JIHSEEZ SZTAIA(ZD-SAESR) 1,085,000 1,458,000 A 373,000
2 1,085,000
403 XX S M S X201 A 1,085,000 1,458,000 A 373,000
2 1,085,000
01 MXSHHAEBE = 1,085,000 1,458,000 A 373,000
OJIHZFEHZ SHHLH 1,085,000
= 1,085,000
JIHSIEAZ SELMHAIY (2 D-0tE2) 1,868,000 3,203,000 A 1,335,000
2 1,868,000
403 XX S M S K201 A 1,868,000 3,203,000 A 1,335,000
2 1,868,000
01 AkXISHM A28 X 1,868,000 3,203,000 A 1,335,000
OJIHEEZ SEH 1,868,000
2 1,868,000
2LMMAAEIZAL ES5XX N (210) 31,975 24,896 7,079
= 31,975
202 04| 4,975 2,896 2,079
= 4,975
1 2L I 4,975 2,896 2,079
O=2ZKMA AEfEA EHXX 2FA 4,975
= 4,975
403 XX S M S X201 A 27,000 22,000 5,000
= 27,000
01 MXHHAEBE = 27,000 22,000 5,000
O=2SMMA AEHEZAN ESXEX XS 27,000
= 27,000
HEL2AAH| (RS HA=sH D) (I EH/IIE 41,221 37,000 4,221
Jl2&Hl 41,221 37,000 4,221
EXN2g0I248d| 41,221 37,000 4,221
201 et A | 26,021 26,000 21
01 At 22l ] 26,021 26,000 21
OFMNMES8Y ALR 224 26,021
202 04| 11,000 11,000 0
01 2LH O HI 11,000 11,000 0
ORME2Y =oALl 11,000
203 &R =&H| 4,200 0 4,200
04 ENSHLRF=XH| 4,200 0 4,200
©30¢2! ol st 350,000 x12& 4,200
HEees(Aatdsgl)(sgaddsd/sY - 55) 2,390,060 2,560,675 N 170,615
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